
KIT # DESCRIPTION (  ) = QTY REQ

Includes: 
2005001 Starter Drive, Lycoming 149T (1 ea)
6201003 Pin, Starter Drive (1 ea)

Includes: 
2005003 Starter Drive, Lycoming 122T (1 ea)
6201003 Pin, Starter Drive (1 ea)

Includes: 
2005004 (1 ea) 
6201003 Pin, Starter Drive (1 ea)

Includes: 
LT-102 Tooling Ball (1 ea) 
LT-104 Brush Retaining Tool (4 ea)
X99-0071 Locktite, 680, Single Use Tab (1 ea)
X99-0072 Locktite, 242, Single Use Tab (1 ea)
X99-0073 Grease, OHK (1 ea)

Includes: 
2505002 Planetary Gear Assembly (3 ea)

Includes: 
1501019 Bolt, Thru, #10 x 4-3/8” (1 ea)
7801009 Washer, Lock, #10, Split (4 ea)
7801012 Washer, Flat, #10, Cad (4 ea)
8101008 Ring, Threaded Anchor, #10 (1 ea)

Includes: 
7505001 Assembly, Brush, 12V pos (2 ea)
7801001 Washer, Lock, 5/16 Cad, Split (1 ea)
7801002 Washer, Flat, 5/16, Cad (1 ea)
7801003 Washer, Insulating, 5/16, Fiber (2 ea)
8101001 Nut, 5/16-24, Bronze (1 ea)
L51-0009 Label, 12L51-0009 Label, 12V, Round Green (1 ea)

LT-EBB-131A

LT-EBB-142A

OHK-0001

OHK-0002

OHK-003

OHK-0004

LT-EBB-124A

Starter Drive Kit, Lycoming 149T
fits all 01 starters (1 ea)

Starter Drive Kit, Lycoming 122T
fits all 03 starters (1 ea)

Starter Drive Kit, Lycoming 149T, left hand
Rotation fits all 04 starters (1 ea)

Kit , Tools, OHK, Lycoming fits all OH kits (1 ea)

Kit, Planetary Gears, 3 ea. Fits all Lycoming 
starters (1 ea)

Kit, Thru Bolt and Anchor Ring #10 fits all 
Lycoming starters (1 ea)

Kit, Brush Assembly, 12V pos. fits all 12 volt starters (1 ea)



KIT # DESCRIPTION (  ) = QTY REQ

Includes: 
7505002 Assembly, Brush, 12V neg (2 ea)

Includes: 
7801001 Washer, Lock, 5/16 Cad, Split (2 ea)
7801002 Washer, Flat, 5/16, Cad (1 ea)
7801003 Washer, Insulating, 5/16, Fiber (1 ea)
8101001 Nut, 5/16-24, Bronze (2 ea)
L51-0010 Label, 24V, Round, Yellow (1 ea)
75050037505003 Assembly, Brush, 24V neg (1 ea)

Includes: 
7505004 Assembly, Brush, 24V neg (2 ea)

Includes: 
1501005 Screw, PFH, #8-32 x 5/8”, Cad (2 ea)
7301001 Bracket, Brush Holder (2 ea)
7401001 Spring, Brush (2 ea)
7801006 Washer, Lock, #8, Split (2 ea)
8101003 Nut, Lock, #8-32, Nyloc, zinc (2 ea)

Includes: 
3701001 Ball, Thrust, .250 (1 ea)
6001003 Bushing, Intermediate Support (1 ea)
6001007 Bushing, Starter, Drive End (1 ea)
6101001 Bearing, Comm End (1 ea)
6201005 Pin, Flux Ring (2 ea)
7801005 7801005 Washer, Thrust (1 ea)
8501001 Ring, Snap, External, 3/4” (1 ea)

Includes: 
1501003 Screw, PFH, #8-32 x 1/2”, Cad (4 ea)
1501010 Screw, PPH, #6-32 x 11/16”, Cad (3 ea)
Washer, Lock, #6, Split, Cad (3 ea)

OHK-0005

OHK-0007

OHK-0008

OHK-0009

OHK-0010

OHK-0006

Kit, Brush Assembly, 12V neg fits all
12 volt starters (1 ea)

Kit, Brush Assembly, 24V pos. fits all 
24 volt starters (1 ea)

Kit, Brush Bracket & Spring fits all starters (1 ea)

Kit, Brush Assembly, 24V neg fis all 24
volt starters (1 ea)

Kit, Hardware, Starter, Lycoming (1 ea)

Kit, Fasteners, Starter, Lycoming (1 ea)


	Kits1Lamar
	Kits2Lamar

